Physics I

Homework I                                                                                                                   CJ

Chapter 1; 6, 10, 14, 21, 29, 38, 42

1.6. Solve: The player starts from rest and moves faster and faster (accelerates).
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1.10.
(a) Acceleration is found by the method of Tactics Box 1.3. Let 
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 be the           
                    velocity vector between points 0 and 1 and 
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 be the velocity vector between                   
                     points 1 and 2.
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(b) Speed 
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 is greater than speed 
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 because more distance is covered in the same 
                  interval of time.

 1.14. Model: Represent the (child  sled) system as a particle. 
	Visualize: 
	[image: image8.png]Stops
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The dots in the figure are equally spaced until the sled encounters a rocky patch. Equidistant dots indicate constant average speed. On encountering a rocky patch, the average speed decreases and the sled comes to a stop. This part of the motion is indicated by a separation between the dots that becomes smaller and smaller.

1.21.
(a) 
 EMBED Equation.DSMT36  
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(b) 
 EMBED Equation.DSMT36  
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(c) 
 EMBED Equation.DSMT36  
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(d) 
 EMBED Equation.DSMT36  
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1.21.
(a) 
 EMBED Equation.DSMT36  
[image: image13.wmf]6

6

10s

9.12 s(9.12 s)9.1210 s

1 s

mm

m

-

-

æö

==´

ç÷

èø


 

(b) 
 EMBED Equation.DSMT36  
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(c) 
 EMBED Equation.DSMT36  
[image: image15.wmf]2

3

cm10 m1 ms

44 cm/ms44440 m/s

ms1 cm10 s

-

-

æö

æöæö

==

ç÷

ç÷ç÷

èøèø

èø


 

(d) 
 EMBED Equation.DSMT36  
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1.29. Solve: (a) 33.3 ( 25.4  846

(b) 33.3 – 25.4  7.9

(c) 
 EMBED Equation.DSMT36  
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(d) 333.3 ÷ 25.4  13.1
1.38. Model: Represent the speed skater as a particle for the motion diagram. 
	Visualize: 
	[image: image18.png]Pictorial representation
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1.42. Model: Represent the motorist as a particle for the motion diagram. 
	Visualize: 
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